Algebra 1 3.3
Use rate of change to solve problems " erdestndad
Find the slope of a line*
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1 Rate of Change Rate of change is a ratio that describes, on average, how much
one quantity changes with respect to a change in another quantity.

KeyConcept Rate of Change

If xis the independent variable and yis the dependent variable, then

0 x
rate of change =

change in y
change in x




Whiteboards

Find the slope of a line that passes through each pair
a. (—=2,0)and (1, 5)




b. (—3,4) and (2, —3)
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¢. (—3,—1) and (2, —-1)
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» GuidedPractice
Find the slope of the line that passes through each pair of points.
4A. 3, 6)! (41 8) 4B. 4, _2)1 (Ol _2) 4C. (_41 2): (_21 10)
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ConceptSummary Slope

positive slope

lingSlopes up
m left to right

W£° -
The function values are

increasing over the
entire domain.

negative slope

\Y

The function values
are decreasing over

the entire domain.

slope of 0

horizontal line
o

o X

The function values
are constant over the
entire domain.

undefined slope

o I

N\
The relation’is not a
function.

Special case: horizontal line-

vertical line










